Year 6 Extension Arithmetic Test 7 teStbase

13-17=
1 mark
804,456
+ 298,792
1 mark
601,600 — 1,000 - 1,000 =
1 mark
801,821 - 16,927 =
1 mark
1,993
X 6
1 mark
300,001 - ? = 200,002
1 mark
8,954 -6 =
1 mark
360-50x%x7=
1 mark
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300 x 70 =

1 mark
36,000 +9=

1 mark
10,000 - 30 =

1 mark
92 + 82 _ 33 -

1 mark
120 x 400 =

1 mark
15,000 + 500 =

1 mark
3,600+-9+40=

1 mark

8.079

X 6

1 mark

© Testbase 2016 Page 2



Year 6 Extension Arithmetic Test 7

testbase

560,000 + 450,000 =

1 mark
9.3+100=

1 mark
4,560.05 x 1000 =

1 mark
291.6 + 1.994 =

1 mark
460.405-9.5=

1 mark
2+7x7-10=

1 mark

568

x 92

2 marks
2.5 _
3 12

1 mark
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2.5_
5
1 mark
2
0.1=—
50
1 mark
0.04x 12 =
1 mark
1782
X 68
2 marks
37.2+6=
1 mark
2
96% = —
25
1 mark
55% of 46 =
1 mark
44}5715 =
2 marks
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2 5
— 4 — =
5 9
1 mark
3 6
— X — =
4 7
1 mark
31+1Z=
2 9
1 mark
4.8
5
1 mark
2£x3=
7
1 mark
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